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Part I Reading Comprehension
(35 minutes)
Directions: There are 4 passages in this part. Each passage is followed by some qxfesriom
or unfinished statements. For each of them there are four choices marked A},
B), C) and D). You should decide on the best choice and mark the corre-
spanding letter on the Answer Sheet with a single line Ihmugh y ntre

&
Questions 21 to 25 are based on the following passage: \\ {" 1
R e

Oceanography has been defined as“ Phe élgplm of all sciences to thd stady of the
sea’ GL/ i 7'2" )

Before the nineteenth century, scientists with an interest in the sea were few and far be-
tween. Certainly Newton considered some theoretical aspects of it in his writings, but he was
reluctant (AR ) to go to sea to further hig work.

For most people the sea was remd 7"and with the exception of early intercontinental ‘\\
travellers or others who earned a living from the sea, there was little reaﬁn to ask a{uq*f\ﬁf »@\}';
questions about it, let alone to ask what lay beneath the surface. The first time th k
question ‘What is at the bottom of the oceans?’had to be answered with any commerc:a"ﬁ
sequence was when the laying of a teleg%aﬁh cable from Europe to America was proposed l
The engineers had to know the depth m&ﬁ) of the route to estimate the len&h sbh
of cable that had to be manufactured. Ap w %h ﬂbw

It was {o Maury of the US Navy that the Atlantic Telegraph Company turned, i 1853,
nmble_mncouragl et gt&‘{e
ate’thed ths..of theDorth
much pﬁfar interest in his

e

for information on this matter. In tb:—r840 aury had
voyages during which soundings (M #) were taken to inves
Atlantic and Pacific Oceans. Later, some of his findings aro
book The Physical Geography of the Sea .

The cable was laid, but not until 1866 was the connection made permanent and reliable.
At the early atternpts, the cable failed and when it was taken out for repairs it was found to
be covered in living growths, a fact which defied contemporary scientif@ that there
w@ of the sea. o

Within a few years oceanography was under way. In 1872 Thomson led a scientific ex-



pedition (E %), which lasted for four years and brought home thousands of samples from

the sea. Their classification and analysis occupied sq{;;i}sts for years and led 1o a five-volume
report, the last volume being published in 1895. N 3
! ;

RTINS

N

! 4, N
/\é\ . The passage implies that the telegraph (fable jwas bufhnamly
A) for oceanographic studies for business considerations

B) for military purposes D) for investigating the depths of the oceans

)‘4\22. Tt was _ that asked Maury {or help in oceanographic studies.
- s g
LEb A) the American Navy
B) some early intercontinental travellers
C) those who earned a living from the sea ;{ﬂ«
th hi sed 10 lay an undersea cable v
,P¥ the company which proposed to lay an un c r/,\\mg/

W. The aim of voyages Maury encouraged in the 1840s was ﬂé\ .
b

A) to make some sound experiments in the oceans
B) to collect samples of sea plants and animals
C) to estimate the length of cable that was to be made

) to measure the depths of (wo oceans

>
,M ‘Defied’ in the 5th paragraph probably means

A) “doubted’ o) ‘challenge%(&

B) ‘gave proof to’ D) ‘agreed o’

",.7 S. This passage is_mainly about
Az the beginnings of oceanography
B) the laying of the first undersea cable
C) the investigation of ocean depths

D} the early intercontinental communications de ol (
: S

q heek
s /Mﬂ/ o 4 e Omhe
v\f Questions 26 to 30 are basedfon the following passage: eﬁtbe'

_ A persmitic g sy C cAfHie £ &]
Normally a student must attend a certain number of courses in order to graduate, and

eack course which be attends gives him a credit (2 4}) which he may count towards a de-

ee. In many American universities the toEl ﬁgk for a degree consists of thirkyssix cours
each\lasting for pne semester (%#). A typival course consists of three classes per week for

le four or five courses

attending two

fifteen weeks; while attending a yniversity a student will prob

semesters each year. It is possible to spread the period of work for the degree Over a longer
period. it is also ible for a student to move berween one university and another during his

% »/ _deg ree, though this is not in fact done as a regular practice. .
ry course that he follows.a studengis given a grade, which is recorded, and the
is_available for the studefit to show to %
y
o e T
3 p/ :
S} - *Cr
e o 1

® \ s 1

ective loyers. All this,im

Yhe

a con-
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stanl pressure and strain of work .m spite of th lS e students still find time for great
activity in student affairs. Elections tions j ent organisations arouse much eathu-
siasm. The effective work of mamtahmg disipline is usually performed by students who ad-
vise 1hg_§g£g\em1c authormes Any student who is thought to have broken the rules, for ex-
ample, by cheating has 1 1o apg appear before a student court. Wu&té\\'normous numbers of stu-
dents, the operation of the system does involve a certain amount of activity. A student who

has held one of these positions of authority is much respected and it will be_of benefit to him

e

26. Nor y’a student would at least attend classes each week.
—_— > Sach weeks

12 D) 15 % ﬁ{y
" 27. According to the first paragraph an American student is allowed ) . ”:E)
$ _ o an Aneien sl s SOy #3
A) 1o live in a different university ﬂd‘f\

B) to take a particular course in a different university 5

later in his career,

————
C) to live at home and drive to classes
D) to get two degrees from two different universitie

28. American university students are usually under der pressure of wor gb/f;

A) their academic performance will affect their future car

B) they are heavily involved in student affairs \\
C) they have to observe university discipline '(‘

D} they want to run for s of authority /b_
B %
stic

r positions in| st isations prohably because

28. Some student th
> wpxh oA S .
Gl 7% vy A8y

B) they will then be able to stay longer in the uni

C) such positions help them get bettér jcshs./
e —t—

D) such positions are usually well paid

30. The student organisations seem to be effective in
LCCT SIEATIOTINE Seem o be e eclive

A) dealing with the academic affairs of the university %1_1’\-3 -

B) ensuring that the students observe university regulations

C) evaluating students’ performance by bringing them beforé a court

D) keeping up the students’ enthusiasm for social activities
Questions 31 to 35 are based on the following passage: KN
KW
Do you find getting up in the morning so diffcult that it's pmnfulS\Thls might be called

laziness, but Dr. Kleitman has a new explanation. He has prcwed that everyone has a daily
energy cycle,
—

aP-Lﬂﬁ_ ca .



o
W
During the hours when you laboyr through your work you may say that you're_‘hot’.
That’s true. The time of day wheh you feel most energetic is when your cycle of body tem-
perature is at its peak. For some people the peak comes during the forencon. For others it
comes in the afternoon or evening. No one has discovered why this is so, but it leads 10 such
familiar monologues ( 8 B B 8 ) as: ‘Get up, John! you'll be late for work again!’ The

‘Q\ ﬁﬁl* exglanatlon 10 the tryuble is th&&&g k.at his temperature-and-energy peak in the
e

&

%F&’

vening. Much amﬂy quarrej}i_ g @- sbhands ﬂcl’_\ms_wiergy

cycles mean, and which cycle each member of the family has.

You can’t change your energy cycle, but you can learn to make your life fit it better.
Habit can help. Dr.Kleitman believes. Maybe you’re sleepy in the evening but feel you must
stay up late anyway. Counteract (Xf{} your cycle 1o some extent by habitually staying up
larer than you want to. If your energy is low in the morning but you have an important job to
do early in the day, nse before your usual hour. This won’ t change your cycle, but you'll
get up steam (ﬁﬁ:l:ﬁ]) and work better at ydur low point.

Q‘Q/ toff to a slow start which saves your energy. Get up with a leisurely yawn (FIX)

and stretch. Sit on the edge of the bed a minuie belore putting your feet on the floor. Avoid

the troublesome search for clean clothes by laying them out the night before. Whenever pos-
sible, do rom:ne work in the afternoon and save tasks requiring more energy or i

for your sharper hqurs

. 1f a person flnds Igetting mp eaxly. & problem, mest probably
A) he is a lazy person. . ) /

B) he refuses 1o follow his own energy cyle "\t}.}.
C) he is not sure when his energy is ' '(3:"

D) he is at his peak in the aftefn or evemng\ ﬁ{,/
. 'Which of %’ ing may jead to family guarrels according to the passage?
ness

A) Unaw of energy cycles.

B) Familiar monologues:u- .

C) A change in a family member’s energy cycle.”

D) Attempts to control the energﬁ{:ycle of other family members,

33. If one wants to work more efficiently at his low pomt in the‘*—’_r;&‘ he should

A) change his energy cycle’ J -
B} overcome his lazinessy,
t up earlier than usual

D) go 1o bed earlw‘q/

34. You are advised to rise with a yawn and stretch because it will
« A) help to keep your energy for the day's wor
" B) help you to conthol your temper early in the day

7



ﬁg sAT li @5
C) enable you to concentrate on your routine woxk /

D) keep your energy cycle under control all day % L O _ 3 i"{ J’q & U"g
35. V@Jch of the following statements is NOT TRUE? 3 & M

.

?‘i-} \A) Getting off 1o work with a minimum effort helps save one’s energy.
B) Dr. Kleitman explains why people reach their peaks at different W
C)} Habit helps one adapt to his own energy cycle.

D) Children have energy cycles, too. % ey L
v %
%4

Questions 36 to 40 are based on the following passage: 1\‘%

T
Welfind)that bright children are rarely(beld ¥ mixeg ability teaching, On the con-. ‘h
_tzarv.eboth their knowledge and experience are enriched. We feel that there are many Q@d__‘ﬁﬁ“

vantages in streaming (#€---3% 8851 4 BL) pupils. It does not take into account the fact that
_yantages ir ; !

children develop at diff ; r have a bad effect on both the bright and the not-so-

bright child @Wlsmumgmg 10 be at the bottom of the top grade! ({‘VQ/ $
Besides, it is rather unrea! 10 grade people just according to their intellectual (E ) A &

ability. This is only one aspect of their 10tal personality. We are concerned to devel < d\&’f 3

bilities of w not just their academic ability. We also g_a_l_uf personal

qualities and social skills, and we find that mixed-ability teaching contributes to all these as-

pects of learning.
In our classrooms, we work in various ways, Thepupils oftfn\\work in groups: this

gives them the opportunity to learn to co-operate, to share, and to develop lesdership skills.

They also learn how 0 cope with (X} {F} personal pr;;en; as wm how to think,

to make decisions, to analyse and evaluate ,‘%}@6 comrunicate effectively. The pupils learn

from each other as well &s from the vescher.

Sometimes the pupils work in pairs; sometimes they work on individual tasks and as-
signments, ;md they can do this at their own speed. They also have some formal class teach-
ing when this is appropriate. We encourage our pupils to use the library, and we teach them
the skills they need in order to do this efficiently. An advanced pupil can do advanced work:
it does not matter what age the child is. We expect our pupils to do their best, not their
least, and we give them every encouragement to attain this goal.

36. In the passage the author’s attitude towards * mixed-abiligy teaching’is ’,’“ b-}b’\
A) critical L C) apprwi‘ng/ . z@v"?{\\
B) guestionj )@}K . D) objective \ p ,).)S,W
37. By “held {Line 1) the author means v - ){gl\»
A) made t&"remain in the same ¢l r/\?‘j\
B) forced 1o study in the lower ci%
C) drawn to their studﬁ %:\QD
A D




b

D) prevented fm\a«ﬁég

38. The author argues that a teacher’s chief-eoncern should be the ée_‘ffl_(_’l_"“?_@t’:‘i_?f the stu-
dent's

A) personal qualities and socidl skilfs

B) 1otal personality )

/
C)—}-e:-r;n‘}?g ability and communicative skills 734/‘@ /FD\ f\ \ %
D) intellectual ability E-}{ (-EI)T“/: q/& o 1 L)

39. Which of the following is NOT MENTIONED in the third paragraph?j Vv )
A) Group work gives pm learn to work pogether with others.
B) Pupils also learn to develop their reasoning gbifities. m\"{g
C) Group work provides pupils with the opportthégf‘eam to be capable organizers.
D) Pupils also learn how to participq‘tf in‘teﬁahiﬁ\'g activiies

| Grpose R e
°40. The author‘@(rﬂose @writing t P,pﬂns‘gge is to .
i 7 A) argue for teaching bright and not-so-bright pupils in the same class

B) fecommend pair work and group work for classroom activitjes

offer advice on the proper use of the library .
) emphasize the importance of appropriate formal{lﬁénm teaching

44,}525 Unit 2

Part [ Reading Comprehension
(35 minutes)
Directions: There are 4 passages in this part. Each passage is followed by some questions
or unfinished staternents. For each of them there are four choices marked A),
B). C} and D). You should decide on the best choice and mark the corre-
sponding letter on the Answer Sheet with a ;ingie line through the centre.

Quéstions 31( %w based on the following passage:

Nurs?ng at Beth Israel Hospital produces the best patient care possible. If we are to
mlvemmmmmm would do
well to follow Beth Israel’s example.

At Beth Israel each patient is assigned to a primary nurse who visits at length with the
patient and constructs a full-scale health account that covers everything from his medical his-
tory to his emnotional state. Then she writes a care plan centered on the patient’s illness but
which also includes everything else that is necessary.

The primary nurse stays with the patient through his hospitalization, keeping track
with his progress and seeking further advice from his doctor. H a patient at Beth Israel is not
respor_lgx'_n_g__ to treatment, it is not uncommon for his nurse to propese another approach to his

06-



0. %7
f'ﬁ\‘w o &

doctoz, What the doctor at Wsrael has j_r_l_the primary nurse is a true colleague. 0}“":\“\ R/
'ﬁ-’ ing at Beth 1 invalv abized (4FALEY) nursing administration ;W %

gyery floor, every unit is a self-contained organization. There are gursesmapagers instead of
head qurses; in addition to their medical duties they do all their own hmng and dismissing,
employee advising, and they make slalary recommendations. Each unit’ s nurses decide a-
mong themselves who will work what shifts and when.
Beth Israel’s nurse-in-chief ranks as an equal with other vice presidents of the hospital.
She alse is a member of the Medical Executive Commirttee, /r?phwh i swlﬂs includes )bl: 7 %
only doctors. - ’%Q d@/ F).!l‘ zgr 34
W y Q’H\%\F
e

21. Which of the following best characterizes the main feature of the nursing system at Beth

e e e
Israel Haspital? XY
A) The doctor gets more active _mife_/mﬂ support from the primary nirse: .

B) Each patient is taken care of by a primary nurse day and rgght
C) The primary nurse writes care plans for every patieqt,”

13) The primary nurse keeps records of the patient’s health ¢ s W&ﬂp%
22. It can be inferred from the passage that /gﬁﬂw’ mﬂfk

A) compared with other hospitals nurses at Beth Israel Hospital are mére patient
B) in most hospitals patient care is inadequate from the pM:oint of view
C) in most hospitals nurses get low salaries ™

D) compared with other hospitals nurses have to work longer hours at Beth Israel Hos-

pital
23. A primery nurse can propose a different approach of trealmenéh—en\
A} the p@ one is refused by the patient N~
B} the patient complains about the present opie
C) the present one proves to be ineffecti
D} the patient is found unwilling to cooperate

24. The main difference between a nursé-manager and a head nurge is that the former
ere _furseTmanage LR

r—n

A) is a member of the Medical Executive Committee of the hospital

B) has to arrange the work shifts of the unit’s nurses
C) can make decisions concerning the medical treatment of a pajgpt/
D) has {ull responsibility in the administration of the unit's n

25. The author’s attitude towards the nursing system at Beth Israel hospital is

A) negative C) critical
B) M D) posigigy
Questions 26 to 30 are based on the following passage: ):)_}ia\ Fi\(

For some time past it has been widely accepted that babnes — and other creatures -

Jh Ry Sk, AW ~. ™

\




learn 10 do thingcermin acts lead to “rewards” ; and there is no reason to doubt that
this is true. 1 used also to be widely believed that effectwe rewards, at least in the early

stages, had to be directly related to such basic physmloglcal ( A THH ) “drives”as thirst or
hunger. In other words, a baby would learn if he got food or drink or some sort of physical

comiort t otherwise.
0. ¢ TIO ~ N
It is now clear that this is not so. Babies will learn to behave in ways tha e re-

) f}gpt the successful nuzmme.l'/\y

ne
Papousek began his studies by using milk in the normal way to “reward” the babies and

-

sults in the world with

so teach them to carry out some simple movements, such as turning the head to one side or
the other. Then he noticed that a baby who had had enough to drink would refuse the milk

would still go on making the learned response with clear signs of pleasure, Srhe began to

study the children’ s responses in situations where no milk was provided. H&AGuc

that children as young as four months would learn to ir heads to right or left if the
movement “swiyched on”a dlspfay of hghls — and indeed [hat they were capable of Jearning

result, for instance, two left or two right, or even to

guite complex turns to bring
make as many as three turns to one side.

Papousek’s light display was placed directly in front of the babies and he made the in-

though they n the display came on. Papousek concluded that it

was not primarily the sight of the lights“which plea it was the success they were
achieving in solving the problem, in mastering the skill, and that there exists a fundamental

human_urge 1p make sense of the world and bring it under intentional control.

W
26. According to the autBor,-b earn to do things which
A) are directly related to pleasure | C) will bring them a feeling of success

B) will meet their physical gee D} will satisfy their curiosity

27. Papousek noticed in his studies that a baby
- A ——
A) would make learned responses when it saw the milk
B) would carry qut leagﬂ‘;d movements when it had enough to drink |
C) would r,g,n_ti_tilﬁ.le\simple movements without being given m‘ﬂiuf* ’ y Jh\T(S
D) would turn its head to right or left when it had enough t%

28. In Papousek’s experiment babies X gmgénts of the head in order to

A) have the lights turne : C) please their parents

B) be rewarded with milk ~ D} be prai
28. The habies would “smile and bubble”at the lights because

A) the lights were dir;;;]‘;felated to some basic “drives”

B) the sight of the lights was interesting

C) they need not turn back to watch the lights

-8 -



D) they succeeded in “switching on” the l ht
30. According to Papousek, the plggsure babies g et 1u acHieving somethmg is a reflectit reflectionof |
ceording po @ " / %
t

— T A
A) a basic human desire tg undersiand and control h worl %b

B) the satisfaction of certain physiclogical needs ii

C)} their strong desire to solve complex problems

D) a fundamental human urge to display their learned skills

Questions 31 to 35 are based on the following passage:

When jig'mer finds that an item she or he bought is faulty or in some other way does
not live up to the manufacturer’ s claim for it, the f\r‘:t step is to, is to_present ﬁle warranty (5%
L::A mmr records which mlght help, at the store of purchase In most cases, this ac-
tion will produce results s , ere a vanous means the consumer may
use to gam Sat]SfﬁCthn

A simple and common method used by many consumejs is to complain directly to the

store manager. In general, the “higher up” the consumer takes. his or her complaint. the
e higher up l

————

&M or she can expect it to be settled. In such a case, it zs usually settled m the con-
sumet ' s favour, assuming he or she has a just claim.

Consumers sho lam in person whenever pOSSI@f they cannot get to the
place OIM ptable to phone or write the complaint in a letter.

Compl ining is usual ost effective when it is done politely but firmly, amde'__ﬂe_cﬁl],y_,
when the consumer can d %15 wrong with the item in question. I this cannot
— o

be done, the consumer will succeed best by presenting specific information as to what is

wrong, rather than by making general statements. For example, “The left speaker does not

work at all and the sound coming out of the right one is unclear™is better than “This stereo
(L&A EM) does not work.”

The store mansger may advise the consumer t¢ write to the manufacturer. If so, the

- consurner should do this, stating the complaint as politely and as firmly as possible. But if a

polite complaint does not achieve the desired result, the consumer can go a step further. She

or he can,t}xreqten to take the seller to court or report the seller to a private or public organi-

zation responsible for protecting consumers’ rights.

31. When & consumer finds that hiw}ms ‘%ﬂq it, the first thing he should do is
to
A) complain personally to the manager
B) threaten to take the matter to court

C) write a firm letter of complaint to the store of purchase

D) show some written proof of the purchase 1o the W

L+



IA ‘

% settlemen roblem, it’ s better R lain to
\ﬁ If a consumer wants a quick ement,_of his p p

A) a shop assistant C) the manufacturer
B) the store manager : D) a public organization

) S%D%Phe most effective complaint can be made by .

A) showing the faulty item to the manufacturer
B} explaining exactly what is wrong with the item
C) saying firmly that the item is of poor quality
D) asking politely 1 change the item

~
Ké!. The phrase*live up t1o"{P }1‘, Line 2) in the context means
——— ————

A) mest the standard o %f&/ €y Tulfil the demands of
D) keep the promise of

S

35. The passage tells us . 7
A) how to settle a consumer’ s complaint 7a faulty item
--'“‘
B) how 10 make an effective complaint abdyt a faulty item

C} how 1o avoid buying a faulty item

B) realize the purpose o

D) how to deal with complaints from customers
T ———
Questions 36 to 40 are based on the following passage:

\/u/men are mercilessly exploited (RIHll) year after year, they have only themselves 1o

blame. b%ecause they tremble at I.he ht of being seen in public in clothes that are out of
————

fashion, they are always lakenjk%‘ e of by the desi designers and the big stores. Clothes

which have been worn oniy a few times have 1o be put amdt*)ecame of the change of {; .

When you come to think of it, only a woman is capable of standing in front of a wardrobe
(K1) packed full of clothes and announcmdly that she has nothing 10 wear.

Changing fashions are nothing more “han the intentional creation of waste. Many wom-
b

en spend vast sums of money each year to replace clothes that have hardly been worn, Wom-
en who cannot afford 1o throw away clothing in this way, waste hours of their t:m.f.)]]termg
Trae———

the dresses they have. Skirts are lengthened or shortened neck-lines are lowered or raised,

and so on. f

No one can claim that the @lmdustw wn%%s anything really rtant to soci-
ety. Fashion designers are rareiy rned with vital things like warmth, comfort and dura-
'\\‘__-__’--—-—--'—‘-.____—,-.___

bility (i H). They e only mter?}%]‘ omward appearance and they take advantage of
e —

the fact that o&gn will put put up witK"any amount of discomfort, as long as they look right.
There can hardly be a man who hasn'1 at some time in his life smiled at the sight of 8 woman
shaking inm;dress on a winter day, or delicately picking her way through deep snow in
high-heeled shoes.

When comparing men and wormnen in the matt76f fashion, the conclusions to be drawn



ate cbvicus. Do the constantly changing [ashions of women's clothes, one wonders, reflect
basic qualities of inconstancy and instability? Men are too clever_to Jet themselves be cheated
by {ashion designers. Do their unchanging styles of dress rellect basic qualities of stability

and reliability? That is for you to decide.

36. Designers and big stores always make money

A) by mercilmg women workers in the clothing industrg/'
B) because they are capable of predicting new fashions \E/

C) by constantllly changing the fashions in women’s clothin

D) because they attach great imporiance to quality in women’s clothing

37. To the writer, the fact that women alter their old-fashioned dresses is seen as

A} a waste of money C) an expression of taste
B) a waste W D) an expression of creativity

38. The writer would be less critical if fashion designers placed more stress on the
T S ——

- Rl
of clothing. ,%‘b. LL
A) cost C) cotqfgm> . Al

B) appearance ) suitability Y. ﬂ
. According to the passage, which of the following statem s TRUE? o}.
A) New fashions in clothing are created for the commercial exp]onatlon of wom rJ

B) The constant changes in women's clothing reflect their strength of character!
C) The fashion industry makes an important contribution to society.

D) Fashion designs should not be encouraged since they are only welcomed by womenf\,/l

{}.\py saying “the conclusions to be drawn are obvious” ( Para. 4, Line 1-2), the writer
/means that

A) women’s inconstancy in their choice of clothing is often laughed at
B) women are better able to put up with discomfort ) '
C) men are also exploited greatly by fashion design@/
D) men are more reasonable in the matter of fashion
’V% EENTYR )
ﬁ/ Unit 3

Part I Reading Comprehension
(35 minutes)
Directions: There are 4 passages in this part. Each passage is followed by some questions
or unfinished statements. For each of them there are four choices marked A).
B}, C) and D). You should decide on the best choice and mark the corre-
sponding letter on the Answer Sheet with a single line through the centre.

11 .
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Questions 21 to 23 are based on the following TW?
o S

There is a mpular@parems that schools are no longer interested inp f.pejlling.
~{g school I have taught in has ever ignored spelling or considered it unimporiant as > 8 __t_)fasic
skill. There are, however, vastly diim;@about how to teach it, or how much priorit
({4 58) it must be given gver. general language development and writing ability. The problem
is, how 10 encourage a child to express himself freely and confidently in writing without

holding him back with the complexities of spelling?

If spelling becomes the only focal point of his teacher’s interest, clearly a bright child
will be likely 1o “play safe”. He will tend to write only words within his spelling range,
choosing to avoid adventurous language. Thal'@e&chers often encourage _L}lg_gfrly use
uf dictionaries and pay atteation to coment racher than technical ability.

1 was once shocked to read on the bottom of a sensitive piece of writing about a personal
experience: “ This work is 1errible! There are far 100 many spe_lﬁng errors and your writing is
illegible (XELIBFIAAY)." It may have been a sharp criticism of the pupil’s technical abilities
in writint was also a sad reflection on the teacher who had omitted to read the essay,

which contained some beautiful expressigaa of the child’s deep feelings. The teacher was not
@ his priorities hadwthe child’ s_ideas,

an expression of his disappointment with the presentation would have given the pupil more

wrong to draw attention 1o the errors,

motivation (B11) to seek improvement.

21. Teachers are different in their opinions about ;
Lgcachers '
A) the difficulties in teaching spellirg/
B) the role of spelling in general language developmen
C) the complexities of the basic writing skills-

D) the necessity of teaching spelling

22. The expression “play safe” probably means
A) 1o write carefully C) to use dictionaries frequently
B) to do as teachers say D) to avoid using words /one is not supé of

;

23. Teachers encourage the use of dictionaries so that -
A) students will be able to express their ideas more fr::é[z/

B) teachers will have less trouble in correcting mistakes
C) students will have more confidence in writing

D) students will leam to be independent of teachers

24. The writer seems 1o think that the teachers judgement on Lhiw

A) reasonable ’%»"ﬁﬂ@'m C) fooIisb\)/

B) unfair D) careless

.12.



25. The major point discussed in the passage is
A) the importance of developing writing skills
B) the complexities of spelling ,
C) the correct way of marking compositions W/
D) the relaticnship between spelling and the content.ef a composition
A

Questions 26 to 30 are based on the following passage:
st
A breakthrough (ZE®8) in the provision of energy frony'the sun_fbr the European Eﬁ;
nomic Community (EEC) could be brought forward by M two decades, if a modest in-

crease could be provided in the EEC’ s research effort in this field, according to the senior
EEC scientists engaged in experiments in solar energy at EEC’ s scientific laboratories at Is-
pra near Milan.

The senior West German scientist in charge of the Community’s solar energy pro-

gramme, Mr. Joachim Gretz, told journalists that at nt levels of research spending it
o T E——— ' — ;
was most unlikely that solar energy would provide as mu hree per cent of the Commu-

nity's energy requirements even after the year 2,000 But he said that with a modest in-
t‘—''''‘"---'_\-"-'__'_‘—-—--- s

crease in the present sums, devoted by the EEC 10 this work it was possible that the break-
through could be achieved by the end of the next decade.
Mr. Gretz calculates that if solar energy only provided three per cent of the EEC’s

needs, this could still produce a saving of about a billion pounds in the present bill for import-

ﬂ-_—-
ed energy each year. And he believes that with the possibility of utilizing more advanced
gf t

technology in this field it might be possible to satisfy a much bigger shar mmunity’
By Ml
future energy needs. J&
At present the EEC spends about $ 2.6 millions a year on solar research at Ispra, one of
the EEC’s official joint research centres, and another $ 3 millions a year in indirect research

with universities and other independent bodies.

26. The phrase “be brough M " in Line 2 most probably means .
A) be expected N C) be advan

B) be completed D) be introduced o L_ P

A}' Some scientists believe that a breakthrough in the use of solar energy depends on

o 2B . %
A) sufficient fm_dm% C) advanced technoW
B) further experiments D) well-equiped laboratories

@ According to Mr. Gretz, the present sum of money will enable the scientists to provide
A) a little more than 3% of the EEC’s needs after the y%k{my
B) 3% of the EEC’s needs before the year 2000 :
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